This Calculation Policy supports the Maths No Problem Singapore Maths scheme that is used in Y1-6 and the EYFS White

Rose scheme of work.

Progression within in each area of calculation is in line with the programme of study in the 2014 National Curriculum. This
calculation policy should be used to support children to develop a deep understanding of number and calculation.

This policy has been designed to teach children using concrete, pictorial and abstract methods/representations. C-P-A.

Concrete representation - a pupil is first introduced to an idea or a skill by acting it out with real objects. This is a 'hands
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on' component using real objects and it is the foundation for conceptual understanding.

Pictorial representation - a pupil has sufficiently understood the hands-on experiences performed and can now relate
them to representations, such as a diagram or picture of the problem.

Abstract representation - a pupil is now capable of representing problems by using mathematical notation, for example:
12 + 2 = 6. It is important that conceptual understanding, supported using representation, is secure for all procedures.

Reinforcement is achieved by going back and forth between these representations.
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Reception

Addition

Explore part- part —whole
relationship: combining 2
parts to make a whole.

Using the ten frame to
support the addition of 2
numbers: combining two
groups.

Recognise different ways of
making numbers.

Solving problems using
concrete and pictorial images.
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Su

btraction

Using concrete strategies for counting.

Using the ten frame to support subtraction by

taking away.

Solving problems using concrete and pictorial

images.

Taking away after counting out practical equipment.
Chiidren would be encouraged to physically remove
these using touch counting.
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By touch counting and dragging in this way, it aliows
children to keep track of how many they are removing
30 they don't have to keep recounting. They will then
touch count the amount that are left to find the
answer

Those who are ready may record their own
calculations
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Peter has 5 pencils and
3 erasers. How many
more pencils than
erasers does he have?

5 Pencils
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3 Erasers ?




Multiplication

Identifying and making equal objects of groups.

Using doubling when solving concrete and
pictorial problems.
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Sharing objects into equal groups practically and
pictorially.

Hearing and being exposed to the language of
sharing and halving. Practically exploring halving
and seeing pictorial representations.
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Year 1

3+4=7
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Make 9 in one and 3 in the other. Take one from
the 3 to make the 9 into a ten..10+2 = 12

6-3=3

Subtract by Crossing Out
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15,
Subrtract by Counting Bock - a
Subtract 3 from 15, 2 S
2 13 4
15~ 312 \/Q.\/ﬂ
[ 22| | n]s]

There cre 12 flowers left A NN
Subtract from 10 % -
W#-8=27 d
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14-8=6
Sam has 6 doughnuts left.

20-4=16

20800

4groupsof2=8
4x2=8

2x4=8




This image represents two
groups of 4 or 4 twice
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Stepl  Add the ones

tens ones
e R
..// veww

Step2  Add the tens,

1ten+ 2tens = 3 tens

tens ones
-
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19+ 20=39
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Stepl Add the ones

3 ones + 4 ones = 7 ones

7 |wee tens ones
- 2 3
» + 1 4
e
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Step2  Addthe tens.
2tens + 1ten =3 tens
- tens  ones
i
v veeve 2 3
™ ke 1 4
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Adding with renaming

Add15 and 18 Use [l torelpyouadd. ISR
Step1  Add theones

Sones + 8ones = 15 ones.

Regroup the ones.

130nee = 1 ten and 3 ones

Y tens ones
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i 1 5
¢ 3 8
oIS s
Stew2  Add the tens.
1ton+1ten +1ten =3 tans tons .o
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Swepl Subtract the cnes

€ cres -~ Jones =5 ones tons ones
2 8
/ veeew - 3
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Stap 2 Subtract the ters tens ones
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Step 1 Scbtract the ones
tans nanas
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Step 2 Scbtract the ters
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tens anes
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Scteroct 24 from 37 Use [l to hetp you subtract.
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12=3x4

12=4x3
&
&

5x2=10
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How many dots are there?
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Therw are 18 sousnges

Put 18 sausoges 2=3=18
equally on 2 plates

DD

There are 9 sauscges on ecch plate

8:2=0

Put 10 buns in groups of 2
How many plates are there?

DO
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Step 1
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10=20 ~
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432 + 521

Put into groups of £
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Make a family
X
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Year 3



236 + 345 =
n
Step 2 Add the tens
1 te ¢ Ztene * 4 tons = 8 tana
i 3 i = Wit

236 4 S48 =881

o Sam had 45 stamps.
His father gave hm 39 stamps.
How many stamps did Sam have?

b

Qlun

Y B

o




| Add 2 and 2.
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1 saventh

B,
7
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3 savenths

1 sixth + 3 sinths = & sixths

1 seventh + 3 sevenths

= & sovenths

1 =7 savanths
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185

185

315

315

315-185=7
185+ ? = 315

185 +315 =7
7—185 =315
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Hannah baked 400 tarts. YT g -—
She gave 270 tarts oway.
How many tarts did Hannah hove laft? -
Subtract 270 from 400,
400 @ h t o
i : » * % o
L e -2 7 o
- ' 5 ' 300 100 1 3 0
270 7
400 - 270 = 300-200= i
100-70= =
Hannah had 130 tarts left.
The pizza was cut Into 5 equal slices, f= 5
5 A
Sam ate é of the pizza. -
1, 5 7
Subtract = from = . =1
5 5 5 fifths — 1 fifth v B =
f’-- - = & fifths
D
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3 ofthe plzzo was left. 3 thirds - 1 third
3 = 2 thirds
Subtract l from 1. 1 S ==- Y
3 3 3
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There are 23 children in a class.
How many children are there In 2 closses?

Stepl  Multiply the anes by 2.

Jones=2 =0 ones

Step2  Multiply the tens by 2.
2tans = 2 = & tens

Step 3  Add the products.
G+a0=45

23x2 =46

There are 46 children In the 2 closses.
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This is how Hannah did 47 = 4, l‘ Z
Is she correct?
1 8 8
40 7
Step1  Multiply the ones by 4.
0 oy 0000006 2tens t o
x 4
7 ones x 4 = 28 ones 8
2B ones=2tens + 8 ones 8onas

Step2  Multiply the tens by 4.

4tensx 4 =16 tens & h

t
i6tens+2tens=18tens = :2,

47 x4 =188

x
Ll BN - )

Hannah s correct.




There are 18 blue crayons on the table.
There are twice as many green crayons
as blue crayons on another table.

{a) How many green crayons are there?
()]
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18 =2 =36 7

There are 36 green crayons,

18
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36
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18 + 36 = 54
Thara are 54 crayons altogether.,

How many crayons are there altogethar?

‘Twlce' means

2 times.

Ta find the number of sweets each persen gets, divide 68 by 2.

G68+2= 6 tens + 2
Stepl Divide 6 tens by 2. “tans FREI
o . Gtens + 2
Step2 Divide 8 ones by 2. Bones+2 ‘
=4 ones -
_________ | - o
: - VES|
[
60 ] =
Step 3 Add the results. n

68+2=30+45=34
Each person gets 34 sweets.

Gtens+2 Bones+2 L
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To find the number of lce creams in each box, divide 52 by 4.

52+ 4=

Step1  Split 52 Into 40 and 12, @

It o o 40 12

ftens+4=1ten

Step2 Divide the tens by &.

0 5%

: e

Step 3  Regroup 1 ten Into 10 onaes. "

Step & Dwide the ones by &.
. S | /
-.....- , . U " 12 ones + 4 =3 ones

Step 5  Add the results. ] l

52+4=10+3=13

There are 13 lce creams In each box.
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80 16 1 =
1

First, I take 80 from 96.
Then, I take 16 from
the remaining 16.

1ten 1
8 ) 9 6
3 - B 0

80 16

8tens=8=1ten




16 ones + 8 = 2 ones

—
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lten+ 2 ones =

& 9 &
- & Q
96+8=12 1 G
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m ‘ She has twice as
I have 36 Lt o many beads as
beads. \ AR I have.
_VEs o
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How many beads do
the children have altogether? ] ‘ ’l
Emma Sam
36
‘ r N
=
36+2=18 2
Sam has 18 beads.
36
R N
Ao IR
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36+18 =54 18
The children have 54 beads altogether.
Year 4
Addition
Adding numbers with up to 4 digits, including renaming. e e
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Charles uses digit cards to make two numbers.

[ )e)le] E]lll

Find thelr sum.

o Estimate the sum of 4256 and 1987,

@ Find the sumof 4256 and 1997.
Step1 Add the ones. 6 ones + 7 ones = 13 ones -
Rename the ones. 13 ones = ' -1 and 3 ones -
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9 8 7
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Step 2 Add the tens. 5 tens + B tens + | 1o = 14 tens
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Step3  Add the hundreds.
2 hundreds + 9 hundrads + 1 hundred = 12 hundreds
Rename the hundreds. 12 hundrads = 1 thousand and
2 hundreds
o
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Step 4 Add the thousands.
4 thousands + 1 thousand + 1 thousond = 6 thousands
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On Saturday, 3018 people attended a funfair.
850 more people attended the funfalr on
Saturday than attended It on Sunday.

Altogether; how many people attended the
funfair over the two days?

° Understand the problem

)
who? | i ?
people

What? | funfair

Make a plan

Saturday [ i |

Sunccy.

Carry out the plan

I
Saturday | I |
surcy [ **°
i . J

9
? P : )
3018 - B5D = 2168 = 8

3018 + 2168 = 5186 1‘ i\
Altagether, 5186 people attended the funfalr over the two days.

&
o)
2168 paople attendad the funfair on Sunday. | 1 | | |

Saturday 3
Sunday + 2
5
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After Ruby spent £3169, how much was left?

Let's Learn

£5280
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subtract | XOXC KX 525
R

5280

5 thousands 2 hundreds 7 tens 10 ones
= 3Jthousands = 1 hundred - Gtens = Qones
2 thousands 1 hundred 1 ten 1 one

5280 - 3160 = 2111
2011 1

£2111 was left, +3 16 9 N
5 2 8 0 ﬂ

A baker made 2750 chocolate cookles and 1638 vanilla cookles.
He sold 3195 cookles altogether.

" AR

Let's Learn

@ understand the problam

Who? & baker

what? | @ T cookles
Make a plan

2750 1638 ’ \
- . - _ -
I
. / of cookles he made.

= | o ag




Carry out the plan

1
2 7 5 0
2750 + 1638 = 4388 +1 6 3 &
The baker baked 4388 cookles. 4 3 8 8
4388~ 3195 =1193 i
2 18
He had 1193 cookias left. 4 T ¥ 8
-3 1 9 5
Chack 1 1 9 3
Cookies sold 3195 o
Cookigs laft 1193 3 1 9 5
+1 1 8 3
COI*.IHM 4388 4 3 S a
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In Focus

Lulu has 155 beads.
Holly has 4 times as many beads as Lulu has.
How many beads de Lulu and Helly have altogether?

of'_"'_“.
e

Method 1

ﬁs:ﬂ-.

Holly has | beads.

N:-N-l

Lulu and Holly have [ beads altogethar.
Meathed 2

1umit =155
Sunits=155=5

Lulu and Holly have [T beads altogether.

1t 5 5
« 4
1 5 5
x 5

In Focus

A shopkeepar repacks 100 kg of rice into 3-kg bags to sell

How many bags does he get?

0=+ @ 10 10 10 10
@ wo:s-p @10 1000010

Method1

100 Divide 90. Divide 9.
/\ P What about the 17 /\
g0 10 4

4 . Cﬂ l)

3 remalnder
Method 2
167 181 181 remainder [
3 1 o o 3) 1 0 a
= ] - g = Jtens
1 0 1 a
- 9 - 9 —— Jonas
1 1  —— remalnder

100 + 3 = 33 remainder 1
He gets 33 bags and a remainder of 1 kg of rice.




Year 5

Holly has 4 times as many beads as Lulu has.

Together they have 155 beads.
How many beads does Holly have?

2
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Together they cost £6.65.
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add the tenths
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Step1  Add the ones.

16 603
+ 17 245

16 603

o
+ 17 245
® [00|00|nn(00) i

™
o
(=)
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16 03
#. L7 45

48

Step 4  Add the thousands.

6 thousands + 7 thousands = 13 thousands

Regroup the thousands.

13 th ds =1tenth dand 3 th ds
1010 @0
101000




‘ Elliott’s mother ordered 2 pizzas of the same size.
Ellottnte%ofonoand%ofthco&m
‘ How much pizza did Elliott eat in all?

Let s Learn

1
6
1,1_2,1
36 6 6
wd
6
___ 1 =1
6 2

Elliott ate half a pizza In all.







Subtraction

Subtract numbers with at least 4 digits using formal
written methods, including decimal numbers.

o 96 420 - 87531 = [118888
oocloee) foschicce] 10000l ETET
22231%® s
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6 ® picks K'—\«“ and l.’__/,ﬁu and finds the difference.
000 oot 001 001
£4.05
o 001 001 £4.05
-£1.2 5§
0 @@ B88
£1.25 93/1@
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01 01 1001001| £2.8 0
001 0.01 ‘
The price difference ;: »
Is £2.80. Ié
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Subtract fractions with the same denominator and
denominators that are multiples of the same number

How much of the pizza Is left over?

D
ey

Ieat —:— of the pizza.

—7 Ieat = of It.
s 8

l

L. & .1
4 4 &4
&3
T4
3_1.86_ 1
8 8 8
8
)

' 4
We need equal MY

denominators.

% of the pizza Is left over after =

a Subtract % from 2.

and 2 eat their share.

2-3.:. [0 -
8
0::
10 5
2 The
10 ) difference between
2 ? 1:.mdgls
‘D T T ] 0
’ !
R e o s e o o
10 ~
2_4 !
RN 5 o I N
9 _2 +5
10 5 ™
N 5 _1
10 10 ﬁ =
51 ;.' iouz
10 2 +5
1 1 1
2=-1=-= 1=
Q-1
Method 1 Method 2
[ ] [ ]
2é| | 2§| |
L | i | ] i
J {
L | | | ] | ]
2 10
EII | TI | | | ]
L ] | i L | ] i
1 1 1 1
2= -1= 2-1 2--1=
2 4 2 4 11=§
2241 0.5 4 b
& 4 4 4
=1l . 4 =E "
“ VE 2.1 ¢
i % & =1i




Multiplication

Multiply numbers up to 4 digits by a one- or two-digit 6 11448 = S OO 10 10 10

number using a formal written method, including long

multiplication for two-digit numbers

Solve problems involving multiplication.

5 <

10 10 [€HE)
1010 | OO

1010 OO
10 10 | OEO

10 10 00
10 10 00

12x132 = | 1584

132
% 12

2 6 4 —— multiply by 2
+1 3 2 0 — multiply by 10

1584

123
x 45

61 5 — multiply by 5
+ 4 9 2 0 —> multiply by 40

5535

123 = 45 = 5535




Is the offer a good deal?

° 8xc18= [N
g | 990 |[,/0000
@000 ||* 0000

©00000000| :-:-
» 00000000 .
©| 00000000
©/00000000| > nuw
000000000
© 00000000
00000000
00000000
8x10=80 8x8=64

8 boxes would have cost £144. ’

They now cost £118.

The distance between City A and City B is 1022 miles.




The distance between City B
and City CIs 4 times the
distance between City A and
City B. How can we work out the
distance between City A and
CityC?

D
(1) 1022 miles
—

cryaocrye [

e |
L &

)

?

101000
RER
1010 |0©
©©|00

1022 < 4 = 4088

0000

Luluboughtagmgtbmmoffmtpum
How much fruit punch did she buy?
She also bought 8 pies for a party.

-goftmmwaneam

How many ples were eaten?
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e @‘b story

2528 mt = 8 = [ST6 0

3 3 12

&z
7 9 8
6 /3 4 2

7 5 remainder 1

2528 ml of juice Is put into 8 contalners so that each container holds the
same volume. What Is the volume of Juice In each container?
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. baked 6 batches of cupcakes,

Each batch was made up of 8 trays of 435, |
Sam packed the cupcakes Into boxes of 4.

Find the number of boxes he got.

What if Sam packed the cupcakes Into baxes of 77

€ uncerstand the probiem.

&

48
Carry out the plan. x12
68 trays =48 96
: ‘.. 576
st6sh=184 4 J 576
- 400
176
16
Samgotm‘ - BE
{82 4
148
x4
576




o What If Sam packed the cupcakes into boxes of 77
576+7=-mmnmdor2

Sam got -bomondzwpcokmwtm

- @B

7) 576

=y

'
e
\(J m

|ﬁ

Lo
I and  share the sum of these two amounts

5o that . gﬁtx3ﬂmﬁst:tsmm:i'u:tsQ

How much more than i will .gm

€ Understand the problem.  How much money Are they sharing
A mmw A equally?
- 11
Mnkeophnondcnrryomthoplon 3597
1259
‘Addtofind  [£3597] —_
, thetotal e} £3507+£1260 - £4856 4856
™ e ACTT ]
& Ot Q- £4856 4 uso
56
.uzms-exm 26
- ~
o E1214 L8
S -16
.gmemz-mu-ezmmmm Fa 0

Are the amounts reasonable?




Percentages

Recognise the per cent symbol (%) and understand that
per cent relates to ‘number of parts per hundred’, and
write percentages as a fraction with denominator 100,
and as a decimal

Out of 10 throws,
Iscored 7.

Y
.

Whose score is the best? !
Let's Learn
o = s method

- ’

. 15

ﬁ 13

j,ft’i‘\u'

Out of 20 throws,
I scored 13. “

| Out of 25 throws,
I scored 15.

This Is the best score!

-

f

What is wrang with ' ‘& mathod?

When does = ‘s method work?
[
o '*'mne‘.hut.‘
-~ %zﬁzm% ‘ This Is the bast score!
e el
1 e
A 5.0 | A8
25 100 ”
3 a1
H. E:E_"’=55-x.,
20 100
7 7 out of 10 15 out of 25
{TeTe v v]w | v|v (TeTe T [ Te Lo Tw e [ [w] )
b L1 By pyuey ey g e 15| [v [l le]rle]v]e]e
v | | | Lo [ vlv el vl el ]r
I I 25]
LA AL A AL Al ﬂ \ ,‘E
v v|v v 100 Erararar Eraracar RE)
CACA A LACA S AN GG
v || i’sf/nii.f:f.i:——'
LA A LA A LAl g i
13 out of 20
l_r-'-'-'-'l-'-'-f-'-'-'
20\ v v
LAl
velelelelelele|e 7] | 65
CACA IUG
mo ILd L4
- .l./ n’lb’ v /.V L
v v v i
o = ‘s method
iy, 7 This Is the bast scora!
— =07 ¥
10 i
15 &0
® - £ _0s
25 100
] 13 _ 65
- — =——=0.65
20 100




Year 6

Addition
Add fractions with different denominators and mixed
numbers, using the concept of equivalent fractions. In Focus A
Find the mass of in each case.
3 A

i

2
i al
. A S
sl 23
4
4142§=+£+22 1_2 Why didwe use12asa
6 4 12 12 6 12 common denominator?
-gll 3.8 L
12 4 12 4
5 3
‘hosamossofﬁ%kg_ Whﬂt!fltlsﬁg+2:? ﬁ
Add using negative numbers.
L]
=4+ 3= -1 ]
> add 3 ,

|
.

:

(7]

n

|

.
=<

We read -1 as ‘negative one’, =1 is1 less than 0.

ohive Mumbsrs Page 260
Add increasingly larger numbers using formal column 23.3¢ | Adaing severs] rumbers with ifferent numbers of
og e . . . — decimal ploces (iIncludng money and meosures

addition, including decimals. 9- 080

‘D’ q - 7 7 O . Tenths hundredths oad thousandths should

+ | 300 , be correctly oligned, with the decimal point
673' S 1 [\ ined wp vertically nehiding i the answer row
2\ 2 ;
P — e N
T oty decemal place s vhado




Subtraction

Subtract using negative numbers.

Subtract fractions with different denominators and
mixed numbers, using the concept of equivalent
fractions.

Subtract increasingly large numbers using formal
written methods, including decimals.

between them.

What is left if

What is left if *

o. L
34

Method 1

Method 1

Method 2

3-7-4
subtract 7 _
S S E—
-5 -4 -3 =2 =1 0 1 2 3 o 5
3-7=-4 We read -4 as

‘negative four’. ‘ -4 15 4 less than 0.

L

F Y 1
- takes = of ?
|

ooo

takes 3 of
&

Emma and Elliott have 1% bars of chocolate -

13
S P
1 3_6_9
T T 1) v on -
1l_l:§+l l:i:i:i .F
SIS 3 6 9 12 ﬁ
1
12
. 1
1-L=
1] |
1 -
L1 1 ] =
A.3_1.1
3 4 4 3
-
12
(L 3_ 44 _ 9 <4 3
3 4 12 12 Py o
6_9 A B
12 12 35 12 4 12
_1 "q______-“ x_\_\__‘_d
12 g =3




¢
rg8'9% 99
£49449
6§6075C
S - 9 by
36 Q0% l,
G 9 - 339k
Multiplication
Multiply multi-digit numbers up to 4 digits by a two-digit
whole number using the formal written method of long 12 = 568 = | 6616
multiplication.
5 6 8
“ 1 2
113 G=—m558x2

6 8

& | Ln
=1
=

0—>*568=10
6




D 24 % 2568 =| 61 632 L
2 1 3 2 2 3 2 2 3
2568 2568 2568
® 2 4 ® 2 4 X 2 4
~™ 10272 27 : 10272
ﬂ’ h 51360 +5 1360
2568 = & ‘:_;'/, 6163 2
Multiply simple pairs of proper fractions, writing the E 2568 x 20 q
answer in its simplest form.
o 1,1 %
2 3 B
Let be a pizza.
— l
2
L 1 “
3 3 F4
1,11 LS}
2 3 6 Taking = of 3 creates sixths.
1
1,2_F8
2 3 3
N S P —
1,2_1,4% .
2 3 2 6
=2
6 2 1 I
=4 6 9
- - - . - 3
Multiply one-digit numbers with up to two decimal
places by whole numbers.




- -
° 12x8= [Ne8 01 o011 1x8=8
1=
' H
1.2 ' 1
/\ & @4 0.2x8=1.6
/\ b—r==
1 0.2 101lo.
IS
i H
1
o301
L 1
I 1
) 1
1.2%x8=8+16 1923104
"E 101! 04
IO
L 1
) 1
101,01
11—~
™
101101
IS
Ho
—
© :2s-1098
1.2xB=12 tenths x 8 h ! g
=96 tenth =
enths 1.2 =12 tenths s
=96
o 102x8= | 816 :;;;'o'oli
/\ —_— 1x8=8
1 002 H H
0.02x8=0.16 "
1.028=8+0.16 @ !
=816 t
° 102x8=| 816
1.02 » 8 = 102 hundredths * 8 o 10 g
=816 hundredths 3 05— 102 hundredths — 5 1 5
=816 n

I

Division
Divide numbers up to 4 digits by a two-digit whole 5
number using the formal written method of long g6) 5 0 0

division, and interpret remainders as whole number
remainders, fractions, or by rounding, as appropriate for
the context.

=

= 5+06=

3 | o
o|lo

480




Divide proper fractions by whole numbers.

1146
N
A
(‘95@ 186 ez 183
40 /0N ' 4 4
96 90 -
(‘ﬁ /’K \\\ :
W 42 i

o 18
G, 5@

i
=
© e - TS
= - e
26 J 11 & 6
- 9 & O = 06024 =40
1 86
- 16 8—2>1684+24= 7
1 8 —3 18+ 24 = OIS
F1146 + 24 = [EARTS
(3] | _ |
E1146 + 2 = 573 I
£573 + 2 = £286.50
‘ £573 £573 |
E1146 + 24 = £573 ¢ 12
raseso.q | £286:50 | £286.50 | £286.50 | £286.50
A —
shared by
& peaple
& 7 7 5
6/ 286 .50
- 2 &40 — 240: 6= &0
&6 . 50 g
- & 2 —_— b2 6= 7
4

. 930 £4.50 2 6=75p




-
How can % share % of a bar of chocolate l

==

with 2 friends so that each of them gets the

same amount of chocolate? _
1
o:-" NN |
-
P ¢ = ™

1
n Each person gets i of
the bar of chocolate. T !

-
v
Irecelve afraction
_;3=lx§= — gfigfth bar,
$ 7 3 & W 5 Zinenan
Drivide. 1
r =y
12
o) = +2= =
13 i3
I, - !
A 12
w 2.3-8 15
13 13
3
@ 2:4=
13 13
2
id} E_:ﬁ: —_—
13 13
© Tr-gom-g
makes .= “mln
8
Is she correct?
Method 1 6 9
2.6=246 5
4 a E-E
=1 4 B
&
Method 2 -
E-ﬁ:lui ‘}
4 B &
N HEEEEE
& b
1 3
Lyz
6 &
. iscorrect.

Divide a 1-digit number with up to two decimal places
by 2-digit whole numbers.




c,lﬁ

Mz
© makes = +|® =
&

24 tenths + 12 = 2 tenths

-
Iz he correct?
Mathod 1
2,3.6 .3 B
& 12 4 12
=2 P
12 Fe
-1 2_1
6 12 6
Mathod 2
2 1_2
LiF=a2xs 2
4 I & Py
_1 —_—
6 BEEREIEREEER
L I 8 { 1 |
1.2
3 &
" Is correct.
o 84:12= 07
Method 1
8.4
84:12=05+02 /\
6 2.4 =24 tenths
=0.7
6:12=05
Method 2

8.4 = 84 tenths
84 tenths + 12 = 7 tenths
=07

)

BAkg+12=0.7kg




ETE
0000

| Let's Learn
€ .o 2-E5

How should we rename 4.08 to calculate 4.08 + 127

001 001 0.01 0.0
Y Y W

001 001 0.01 D01

L A A

4.08
000 01.04,01 01 /N
R N T 3.5 O.ia
01 01 01 01 | oo ood 004 000
I R I e Y e
88 028 :
3.6 .48
3.6 = 36 tenths
0.48 = 48 hundredths
36 tenths + 12 = 3 tenths
=03
&8 hundredths = 12 = & hundredths
=004
50B+12=0.3+0.08
=034
[ |
€ :os.12- 0
0 . 34
4,08 1z & .o
/ '\\ I . 6 —3 I6 tenths
\ —_—
36 048 0. 48
- 0 &4 8 = 4E hundredths
)
Problem solving with all four operations
solve problems involving addition, subtraction, m
multiplication and division g
solve addition and subtraction multi-step problems in ot thagrectest nlnber y
. . . of mangoes that can be bought .
contexts, deciding which operations and methods to use | . 507 &5
. ‘-— *
and why =8
R 4
How many mangoes can be bought with £60?
Method 1
£50
S G
e 7 AN ~—
£13 £13 £13 £11
l l 24 mangoes
8 8 8
mango‘:s "‘ll)ﬂgOE?} mnngocs. ﬁ
8+8+8=24 =
Method 2 3
£50 + £13 = 3 remainder £11 13 ) 5 0
3x8=24 =389

a

24 mangoes




' toak 1 h 50 min to bake first a sponge cake, then a butter cake and then
a brownie. The butter cake took twice as long to bake as the brownle. The
brownie took 10 minutes more than the sponge cake.

= twice as much time as .

‘ 10 minutes more than 59

Is it possible to find the time it takes to bake a sponge cake?

[ Understand

Let's Learn
o [ Plan
.
= I ot

[ Chack

L 1k 50 min = 60 min + 50 min
=110 min

1h =60 min

110 min - 30 min = 80 min

L 3
4 units = 80 min How long did it take to
funit =80min+4 bake the butter cake
=20 min and the brownie?
The sponge cake took 20 min to bake
=) 1h 50 min = 110 min ‘

o5 110 min + 10 min = 120 min

4 units = 120 min
1 unit =120 min + 4
=30 min
It took 30 min to bake the brownie,
It took 60 min to bake the butter cake.




-
= wants to make 20 identical squares and
12 identical equilateral triangles using wire.

of wire . needs to make all 20 squares and 12 triangles.

3 squares 4 triangles

AAAA

AAAA
AAAA
AAAA
AAAA

25 triangles need 600 cm.

1triangle needs 600 em + 25= 2&  cm.

100
2 4
25 25 25 25

25)'500

-5 0 0 —=20
100

-1 0 0 —»4
0

4 triongles need 24 cm =4 =| 86  cm.

o B

2 24

N
Wi

>
—l

88
o

3 squares need 96 cm.

1sguare needs 3Gcm + 3= 32 cm.

He has made 12 squares and 9 triangles using 6 m of wire. The length of wire

used for 3 squares is the same as that used for 4 triangles. Find the total length
-

] Understand
] Plan

[ Calculate
[[] Check

12 squares 16 triangles A
12 squares and 9 triangles need 6 m = 600 cm. N
16 triangles and 9 triangles need 600 cm .1;»'?';-:.

1m= 100 cm

3 2
sJo s
-9 0 —330
[
- & —>32
0
Percentages

Calculate percentages of quantities and numbers.

) «o%of6s-[2
65

10%— 65 +10=6.5
0% — 4= 6.5=28




Ingrediants for lamonadae
6 cups (1.35 1) cold waler

2 cups (450 ml) lemon syrup
a pinch of aalt

~

mixes the cold water and the lemon syrup. Out of 100, how many parts of
the mixture is lemon syrup?

| L T [ 1

N — / 100 parts
25 parts
100+4=25
25 out of 100 parts of the mixture is lemon syrup. X
25% of the mixture is lemon syrup. That means for every ..’
100 m! of mixture, 25 ml
Is lemon syrup. y ’
o wants to prepare a 2-litre batch of lemonade. How much lemon syrup
does he need?
21=2000mi

Meathod 1

For every 100 mi, needs 25 ml of lemon syrup

For every 1000 ml, needs 250 ml of lemon syrup.
For every 2000 ml, needs 500 mi of lemon syrup. "
Mathod 2

21

. 21+4=2000ml +4
|25%|25%|25%|25‘%|
\ J

=500 ml ‘
500

Method 3

25% of 21 = 2 * 2000 mi
100
1
= — %2000 ml
4

=500ml




